
Ei¥nts : E an event , sample S

p (E) = MEI
n(s)
-

Example : Roll two dice (one white (one blue) . Whet is
the probability that the sum is 8?
Sample space : { I , 2,3 , .- , 11 , 123←

Not equally likely
events

sample space : ( l , I ) ( I , 2 ! - - - - ( l , 6 )

planish -E q , ,,⇒c.se"
" 'ji!,#Emts



Example : coin flipped 3 times
.

What is the

probability of at least two heads ?
Sample space : f HH H ,

HHT, HTH ,
TH H

,
TT H , THT ,HIT ,

- - - -

TTT}
p(at least 2 heads) = Ig =

I
= 43127-43,372=3-1 = I

2 8 8 2

Coining
at least 6 heeds?

((11,6) t ( (l l F)+((1118) t -- -tall , Ii)
P(at least 6 heads) =IT



Example : Nine cards labeled I -9 , randomly choose 3
^
in order to make 3 -digit number . What is prob thisdifferentdis 500 or bigger?
Sample space hes PG .3) = 9 - 8 - 7 elements

E ' -8 -E ways to get 3500

pc>5007 = = I



Example : 15 cards labeled l-15
. 3 randomly and

placed in row ( in order)
.
Whet is the probability that

a) all three are odd ? Sample spree : 15.14 - B elements

P(all odd) =8 = O - 123
1514 . 13

b) first to odd , third even?

PC
? > = t.is -- 0.144

c) all 3 are larger than 10?

Pf
t
) = 53 = 0
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